Supermarket Quiz

The Money Advice website ran a quiz to find out whether shoppers could work out
which supermarket deals offered best value for money.

They asked about four typical offers. 2,000 people took part and only 1in 50 {2%)
managed to pick out the best offer.

Can you do better?

This is the quiz set by Money Advice.

. Of the following options for milk, which represents the best deal?

Six pints of milk for £1.80

Four pints of milk for £1.40

Two six-pint cartons of milk on offer for £3.50
Two four-pint cartons of milk an offer for £2
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best deal?

One 500g pack of lemons costing £1.20

500g of loose lemons at £2.50 per kilo

Buy two get the third free deal on 200g packs of lemons costing 70p each
Buy one get one half-price deal on 250g packs of lemons costing 70p each

. Of the following options for buying tomato ketchup, which represents the

best deal?

One 460g bottle on offer at £1.50

One 910g bottle costing £2.49

Buy one get one half-price deal on 700g hottles costing £2.29 each
One 1.35kg bottle costing £3.50

. Of the following options for buying eggs, which represents the best deal?

Six medium eggs for £1.10

Ten medium eggs on offer for £1.50

Fifteen medium eggs for £2.10

Two packs of six medium eggs on offer for £2.00

Buy one get one free offer on packs of ten medium eggs priced at £2.20




